Target Tables
Twe, Ten and Five Times Table

Target: To apply my knowledge of the five times table

. There are 2 rows of five
chairs. How many chairs are
there altogether?

10. What is 60 shared by 10?

.20=10x__

1. =2x5

15,20, 30 40

) ——

12. True or false. 16 is a multiple of
2.

. There are 5 rows of ten
flowers. How many flowers
are there altogether?

13. I have seven 5p coins. How
much money do | have? ____

.9x5=__ 14. True or false. 37 is in the five
times table.
. What could the 15. Which number is NOT in the

multiplication number
sentence be?

ten times table?
90 30 57 40 80

. True or false. 2 x 12=22.

16. Two children equally share 20
sweets. How many do they each
get?

. How many lots of 10 are
therein70? ___

17.70, ____, 90 110

) —)

.8x__ =5x8

18. | want to plant 20 flowers. |
have 2 rows. How many flowers
do I need to plant in each row?
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~Target Tables

Target: To rapidly recall my two, ten and five times tables.

1.5x4= 11.5x7= 21.2x 8=
2.7x2= 12.2x 4= 22. 10x 7 =
3.50=5x___ [13.30=10x___ |23.5x___ =40
4.2x5= 14.5x9 = 24. 6 x5=
5._ =5x5 |15.8x5= 25.90=9x___
6.10x8= 16.2x 6= 26.5x 3=
/.1x5= 17. 1x2= 27.9x2=
8.2x__ =20 |18.4x___ =40 |28.60=__ x10
9.10x5= 19.3x5= 29.2x 11 =
10. 80=8x |20.2x12= 30.8x5=
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